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No. of Questions : 150

U9l st €& : 150
1 -
Time : 25 Hours Full Marks : 450
1
qw : 2 TUE qunE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

AT T H v H & TA B TAE WA 3 (T ) b
2l mwm%mwmmmlmwﬁaww
Wi I B

(2) If more than one alternative answets seem to be approx1mate to
the correct answer,choose the closest one.

Iz T defoush I e SR & e W &, @ Frerean w8t W
<l

(3) This paper comprises of three sections : Physics, Chemistry and
Biology. Each section contains 50 questions.

qE YIS @ @Uel F1 & ¢ sifae fagm, e foaar wd Ste fage
TAF @IS W 50 U 2
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01.

02.

SECTION -1
Qug -1
PHYSICS
(Marks - 150)

The direcrion of A is vertical upward and direction of ﬁ 1s in north

direction. The direction of ;{xﬁ will be :

(1) Western direction (2) Eastern direction

(3) At 45° upward in north (4) Vertically downward.

IFTT 5 Y R et SR A qer 3 B e IwR Y ¥ | A

Axp 1 fRem B
(1) uqfeew @1 (2) g& @
(3) I @ 45°FHIT H (4) Pt = oa oY

If A _R4+C and the value of Kﬁ&é are 13, 12 & 5 units respectively
then the angle between A g ¢ is :

A& A_Be ¢TI Z_p O & A 13, 12791 58, @ ; ofw ¢
& &= 1 HoT BFT

(1) cos™ (5/13) (2) w2
(3) cos (13/12) (4) sin (5/12)
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03. A particle of mass 'm'is circulating on the vertical circle of radius 'r'.
If the speed of particle at highest point is 'v', then :

T 'm T FUE arErd v @ S @ afe Y Seey gl J g
T ¥ g Soaad g o) oS @ e Ve A
(1) mg=mv?/r (2) mg>mv?/r

N

(3) mg<mv/r @) mezt-

04. A particle of mass 'm' is circulating on the circle of radius 'r' having
angular momentum L, then the centripetal force v will be :

S m' O[S @ B v B gl 9Y GRS ge el Ha
L AT H o SR a8 |
(1) L?/mr (2) L’mh
(3) L?/mr? (4) L?/mr?

05. If g be the acceleration due to gravity at the earth surface then what
will be increase in the potential energy if object of mass 'm’ is raise
by its radius R : ;

iy gedt gedfl der U G @O g B A ‘m' FHAN B IH A
ﬁgﬁwﬁg&ﬁaﬁﬁW'R'%Wméazﬁwﬁﬁm

]
(1) —2-ng (2) 2 mgR

(3) mgR (4) %ng
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12.

13.

Rl el @1 Q-Tvtier ot § & Fpaepr woT 27
(1) =~ U (2) @-UE

(3) wfcRrerspar (4) =rE=Lieran

Curic Law T = constant, relating magnetic susceptibility and

absolute temperature of magnetic substances is obeyed by :

(1) All magnetic Substance (2) Paramagnetic Substance

(3) Diamagnetic Substance (4) Anti-ferro Substance

T & FEw 1= Fadis, grEea gwrd o gEe ggf e
IYAAY & H¥ I AT 8, THHN U BT @ &R AT sher &
(1) &0 graehig gared (2) ST grHE qaTd

(3) ufTgFrehIg yaret (4) ufg-e garet

The average energy of the classical oscillator at temperature T is :

ag T RRE™T a9 # ohga o1 2

KT (3) %KT (4) (KT)?

(1) KT (2)

o | —
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14. The average energy of the Planck's oscillator at temperature T &

15.

16.

frequency 7 is:

g T JeAT ST y T Wi ST T SfEa ol ©

(1) iy 2) “7/ {e “'"J(S) ‘W/ Le ] (4) KT

The circumstances which discards the electron to be a constituent of

nucleus in atom :
(1) Size (2) Magnetic moment

(3) Spin (4) All of them

wﬁm%mﬁﬁmﬁﬁ%ﬁmmm
o] 8 B

(1) ST (2) gsaa?m—amgvi
(3) = (4) ST Al

Which of the following combination of Lissajous figure will be like
eight shape (8) :

frer & @ @1 g foegd %ﬂﬁaﬂa(&aﬁﬁaﬁﬁrﬁlﬁm%
(1) x=asin4ot,y=Dbsin ot (2) x=asin2 ot,y=Db sm ot

(3) x=asin 2wty =bsin2 ot (4) x=asin ot,y=bsin4 ot
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17.

18.

19,

In the given circuit for the balance to be around C (within + S5cm) the
voltage of E must be between :

ﬁﬁﬁqﬁwﬁﬁfﬁmﬁgc(is@rﬁ%w)wmﬁ%m
E &l [@9ar<< g9 ann

SV
+| I |-
] [
A C B
A
AB=100cm
—{ l—@— AC= 30cm
(1) 1.03Vtol.06V (2) 1.45Vtol1.55V
(3) 1.25Vtol1l.65 (4) 1.45t01.75V

Under the influence of weak magnetic field, Normal Zeeman effect
might be exhibited by :

BT P A & g9 F A S gwe @ geiRia s
(1) H (2) He
(3) Na 4) K

A normal human eye can detect 6.9 x 10° photons/sec-m? of green
light wave length ) =5500°A while the normal human ear can detect
1.0 x10°"® watt/m?. By what factor eye is more powerful detector than
ear :

(1) Two times - (2) 3- times

(3) Four times (4) Eight times

10



20.

21.

22.

13U/115/29(i)

qsd & AHEE aifE &Y 1 & THIET (3, =5500°A) & 6.9 x 10 HieE
oy Sdve-de ORI FT bt ¥ SFiE FYH B WA D
1.0 x101 e /o & TR FTaT & RRe I o, &I & g
§ oiftr EgaSH 8-

(1) & AT (2) = AT (3) =M AT (4) S T

The current gain ( a= 0.98) be in C B configuration the current gain

B in CE configuration will be :

o aﬁoafﬁﬁwmﬁqmarm(wo.%)aa’rmoéo srfie=ara
F oRT ST B WA BRM

(1) 0.98 (2) 49 (3) 1.98 (4) 1.49

The expression for the thermal resistance of material of the length d,

area of cross section A & thermal conductivity k is :

wﬁ%m&ﬂuuﬁﬁﬂmmwmd,aﬂmﬂaﬁmA
oy T (k) @ @l

(1) d/KA (2) d?/KA (3) d/K*A (4) d/KA?

In the adiabatic expansion of ideal gas, AV/Vis equal to :

&Btﬁan@i?m%mmmﬁmwvwmnhm:

(1) -Y'“(A%) (2) - (P/AP)
o (%) @ (%)

11
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23. Anideal gas of 4-mole at 127°C is isothermally expanded to the volumec
4-times. The work done in this process is equal to (log 2 = 0.3010):
(1) 92154 (2) 18430J (3) 1000 J (4) 1200 J

T 3TeSt N & 4-7T o 127°C a9 9 @Hardt Ofy 9 o s
SHDT AFTT AR X Rar siren B ) g9 wfvar § fmar o7 a0
BT (log, 2 = 0.3010):

(1) 9215 (2) 18430F@ (3) 10005  (4) 1200 5t

24. The two thermodynamical process 'A' and 'B' is shown in the fig. in

which the heat given are Q, & Q, respectively then :

%ﬂﬁawwﬁmm'A'am'B'miﬁ%,mﬁaﬁném
M Q, TAT Q, B o™

PA}

A(Qy)

B(Q»)

<Y

1 Q >q, @ ©Q =q,
B) Q <q, 4 Q =Q

12
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25. An alternating voltage in applied to the LC circuit. The Voltage across
the capacitance will be the maximum when the applied frequency

is:

chﬁqaﬁ@qwmﬁﬁﬂamw%lﬁqﬁawﬁrm
stftrepam B8R oTe STigfat & A= er-

1 o Ve @) w-JiC
3) m:\/% @ o=y

26. If V is applied voltage on reverse bias and V, = nKT/q, then the

expression for the current is :

afe g @ & fgwg v a9 V= nKT/q® 9 &R A0 FHTH
BT

O LEY) @ L) @ L) @) L(et )

27. The efficiency of Half wave rectifier is :

AU ECTiE R el Bt IR

(1) 40.6% (2) 81.2% (3) 162.4% (4) 20.3%

13



13U/115/29(i)

28.

29.

30.

31.

In case of transistor, the doping concentration in three E,B & C are

related tc :

i & 1 E, Bl ¢ & St arsar &1 gy e L
(1) DE>DC>DB (2) DE>DB>DC

(3) DC < DB = D[.; (4) DC < DB > DE

Radix of decimal system is :

IHAT & Yafa &1 Weaq T

(1) 1 2) 2 (3) 10 (4) 20

Redix of binary System is :

sl 9 gafd @ WS aar B

(1) 1 2) 2 (3) 10 (4) 20

Which gate is universal gate (logic) :

qrdfe afes AT $Hi9 Sar B
(1) OR (2) NOT (3) AND (4) NAND

14



32.

33.

34.

35.

13U/115/29(i)

Symbol of exclusive NOR gate is :

TR AR e H R
W=D 2 @) X 4 D)

AND operator has the expression :

AND HfHaT &l &Sl el &

(1) 1.A=A (2) A.A=A (3) A.A=0 (4) All of them
. Th™ 5, pb®™ + 60" +48 +y is a radioactive series known as :
(1) Thorium (2) Neptuniun (3) Uranium (4) Actinium

L Th? 5, pb™ 460" +4f" +y JSATRFET Ao Bl AH &

(1) enfEw (2) AggfEs (3) TEH (4) »Qﬁﬁ"ﬁ'ﬂﬂ

If the temperature of sun is double the ratc of cnergy received on the

earth be increased by a factor of :

afy @ @1 A & AT O o, A gedl 9% ure Soft fee I @

(1) 2 (2) 4 (3) 8 (4) 16

15
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36.

37.

38.

Two point charges, first in air and then in a medium of dielectric

constant K, are kept at the same distance. The ratio of the forces

between the point charges, in both states is
ﬁ%ﬁeﬂ%SquaaTgﬁammKW%maﬁmwnﬁ:w
W?Twﬁmﬁ%laﬂ‘rwﬂaﬁﬁfﬁ@aﬁ%zﬁaﬁﬁaﬁw
4 S @

(1) 1:K (2) K:1 (3) 1:K? (4) K?:1

The SI unit of free-space permittivity (g,) :
(1) N-m?-C? (2) N-m?-C?

(3) N'!'-m2-(C? (4) N' m* C?

e =1 Rregashierar (e,) @1 SI o
(1) =gE=-4r -2 (2) -7 -2
(3) gl - o2 - EEQ (4) ! 2 Eﬁ)

If a copper wire is stretched to make it 0.1% longer, the percentage

increase in resistance will be :

uﬁ:@a‘&%mﬁeﬁwo.l%mmﬁw%ﬁsﬁ%
gty § nfds gis e

(1) 0.2% (2) 2% (3) 1% (4) 0.1%

16



13U/115/29(i)

39. A resistance of 50 is connected to the left gap of a meter bridge and

resistance of 15Q in a other gap. The positioned of balancing point is :

(1) 20 cm (2) 25cm (3) 75 cm (4) 10 cm

ws Hiex 9g @ ag R 7 5o 1 aferder qen gEd Ried 7 150
7 R ST oar & Aeged fag @ Rl

(1) 20 = (2) 253 (3) 75 (4) 103w

40. Tangent Galvanometer measures :
(1) Capacitance (2) Current

(3) Resistance (4) Energy

wetsar g AT9aT B o
(1) =far (2) o (3) wfrda (4) T

41. To sent 10% of main current through a moving coil galvanometer of

resistance 990 the shunt required is :

g0 TR B TETSE A § g €T @1 10% HS & [0

3TEITF ¢ B ¢

(1) 9.9Q (2) 10Q (3) 110 (4) 9Q

17
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42.

43.

44.

Thermal capacity of 40gm of Al having S = 0.2 Cal/gn-k :
(1) 168 J/°C (2) 672 J/°C

(3) 840 J/°C (4) 33.6 J/°C

40 g ) Sl emar BraE S = 0.2 & -k @
(1) 168 3/°C (2) 672 w/°C

(3) 840 71/°C (4) 33.6 7/°C

A lift weighting 1000 kg is moving of upwards with an acceleration of

Im/sec?. The tension in the supporting cable is :
U 1000 fesam s=wi ol forde 1 #1,/82 & @7 @ SuT o © zu

HETH<h El\?ﬁk"T &l AT BRI

(1) 980 N (2) 10800 N (3) 9800 N (4) 8800 N

In a gas, two waves of wavelength 1.00m & 1.01 m respectively produce

4 beats in one second. Then the velocity of sound in that gas will be:

(1) 400 m/sec (2) 404 m/sec (3) 410 m/sec  (4) 330 m/sec

18



45'

46'

13U/115/29(i)

g g H A ae e aveed #mgn 100 Hio @Al 1.01 Hlo &, 1
SRve 7 4 faegeE Sa e Boal 39 T # oAl w A e

(1) 400 /Fo  (2) 404%/Fo (3) 410¥/Fe  (4) 330%0/70

8 drops of equal size in air, are falling with terminal velocity of 5
cm/sec for each one. If all the drops combine to become one drop.

the new terminal velocity of new drop will be :

(1) 10 cm/sec (2) 15 cm/scc (3) 20 cm/scc (4) 40 cm/scc

A TR & 8 4R arg H, ued 5 adl/Ho g a1 | e @
3| afx wef 9 FrererT o g A St A g g B T A AT
N

(1) 10qH/Ao  (2) 15TH/Ho  (3) 20 I/ Ao (4) 40FH/Ho
A radioactive material (Ra™* events three ¢ particles & one particle.
The final isotope obtained after emission will be :

et am | Ra™ S TEET FOT G O TR0 AT IR o
3| S & Iovrd o erfad AEdRT BT

(1) WX (2) WX (3) WX (4) WX

19
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47. When the current in a coiL changes from 4 Amp to 8 Amp in 0.4 sec.

48.

49.

an emf. of 4 volt is induced, the coefficient of self induction of the coil
1S :

At fRet fusell § 0.4 §Bve ¥ aRT @ A9 4 CRyER § T W
8 UFX B WX FodTodo 1 AN 4 dce &1 al FHueeh @ wiiver
USIEZSRL

(I) 0.1 H (2) 0.2H (3) 0.3 H (4) 0.4 H

Taking 10 Newton, 3m/sec & 200kg as the new units of force, velocity

& mass respectively, the new units of time & energy will be :
(1) 60 sec, 1800 Joule (2) 3600 sec, 1800 Joule
(3) 60 sec, 180 Joule (4) 60 sec, 900 Joule

HHA: 10 e, 3Hlo/Ho g 200 R a@er, a1 dor == & A9
ZHIEAT A9 U GG g ol @ A SehE any

(1) 60 @o, 1800 ST (2) 3600 Fo, 1800 T

(8) 60 o, 180 T | (4) 60 do, 900 I

Three elements having atomic number equal to 11, 14 & 32
respectively. The number of electrons in p - sub shell of the second

orbit (n = 2! will be :

o Gl @ gAY S 11,149 32 B f&dfig e (n=2) 3
p -S9FET ¥ IS HI AT FHAT: BN

(1) 1,44 (2) 0,2,4 (3) 4,4,1 (4) 6,6,6

20
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50. A light ray has wavelength in air as 7200°A & in glass (p = 1.5) as
4800°A. The refractive index of the medium wave light ray has

wavelength 4000°A is

qeTeT &) T fERRT &t st # adaRed 7200°A @ (p = 1.5) B HA H
4800°A | Rt mreqw B wemer FRRT @t a¥Red 4000°A Bl IEER
IS © -

(1) 1.6 (2) 1.7 (3) 1.8 (4) 1.9

21
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SECTION - II
qug ~ 11
CHEMISTRY
(Marks - 150)

51. Depression in freezing point of a solvent in the presence of solute s
caused by

(1) Increase in intermolecular forces of solvent
(2)  Decrease in intermolecular lorces of solvent
(3)  Increase in intermolecular forces of solute

(4) Decrease in intermolecular forces of solute

93

dfeye @l Mgant | oded e & it agee | FREe @ g
(1) s @ e e ey EI7a ehl JgHT

(2) AT & gee v HISAR@Y WITES @l el

(3) AT & geevHTAG v BHT Bl el

(4) W2 & FeaATAYT? RIS B Al

52. Assertion, A : Real gas approaches an ideal gas at low pressure and
high temperature.

Reasoning, R : In cquation [P+ (a/v?)] (V-b) = RT; a/v* & b approaches

Zero.

(1) A as well as R is correct and R 1s the correct explanation of A.
(2) A aswell as Ris correct but R is not the correct explanation of A,
(3) A and R both are false.

(4)  Ais true but R s falsce.

I
(3]



53.
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Assertion, (SX) A : ¥ @@ N7 sifqes QTHF G GEATH T
o e # amest @ @ dve 8 Snl B

Reasoning, (HO) R @ FHEIT [P + (a/v?)] (V-b) = RT # a/v &b
g B foree 81 S ©

(1) AR R &I B oX A S fo@ RAE HEY Z

(2) A 3R RAMT @15 ¥ afw A® fm R Zi @oT 79 B

(3) AR RN T 2|

(4) ATE B <] RS B

Which of the following is incorrect for a rcal gas ?

(1) Low pressure helps in separating the molecules

(2) High pressure helf)s in bringing the molecules closer
(3) High temperature brings the molecules together

(4) High temperature and low pressure help in making gascous

volume and internal pressure vanishingly small.

e § q B § aredfas 9 & [ T § 7
(1) W g Jieeged @ oTaE & g @erd
(2) cifers | Hicleed @ e SR 8

(3) efferp arqeT Hideed @ e S ©

(4) oiftres d9A™ qem HH & ITF Bl STIAT 3T ofierdt g E
% gIE Y Al ©
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54. Assertion, A: AG = AA for an ideal gas in an isothermal process.

55.

Reasoning, R: A = AU =0

(1) A aswell as R is correct and R is the correct explanation of A.
(2) A aswellasR iscorrect but R is not the correct explanation of A.
(3) A and R both are false.

(4) Aistrue but R is false.

Assertion, (SX) A : @ otast {9 @wamdt W § oG = an &1 ST
T

Reasoning, (FREN R : oy = Ay = 0 & w1 3

(1) AR RI &ieh B ok A D Biw R &1 wreor 2
(2) ASIR Rl 31k & ok AD R R &% @reor =81 &
(3) AN RN} T B

(4) A9T B fo<] Ryg® ¥\

For a gaseous reaction : A — B

uh 9 F ifufRar A»B B fag
(1) d[A}/dt = d[B]/dt (2) d[A]/dt = -d[B]/dt
(3) -d[A]/dt = d[B]/dt (4) -d[A]/dt = -d[B]/dt

24



56.

57.

58.
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Which of the following is isoelectronic ?

g § q FIF AT SNSARTEL S B 7
(1) Mn? and/ 3fI¥ Fe? (2) Mn?" and/ 37X Fe*

(3) Fe? and/ si¥ Co* (4) Co? and/ &fIX Ni*'

Solubility product of AgCl is 1 x 10''°. Which one of the solutions of
maximum concentration of HCl with 2 x 10"*M solution of AgNO, will

keep AgCl in solution ?

AgCl T RISRIT-ToTohat 1 x 1070 | AgNOHT 2 x 10°M I & =T HCl
& e Y gu feg orfdes mRuT & A A AgCla Oi ® TR 7
(1) 5x107M (2) 5x10°M

(3) 0.1 x 10°M (4) 1x105M

Which is the correct match for the aqueous solutions of the following

salt ?

2 i go ol § W & O @ B o1 wE A e 7

NaCl Na,CO, cuso,
(1) Neutral/JIard= Acidic/THife® Basic/3aR¥@®
(2) Neutral/I&IA Basic/af® Acidic/THifg®
(3) Basic/3af® Neutral /3ard= Acidic/udifee

(4) Acidic/udifesh Neutral /I&RH Basic /a4

25
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59.

60.

61.

One mole of an ideal gas expands from a volume 10 to 100 litres at

temperature, T. The maximum work done in the process will be ?

Uk HIe e N A9 T 9¥ 10 & 100 dex a% Dot 21 o3q
TR H o1 9 31f8es @ =9 = enm P

(1) 2.303 RT (2) 2.303R
(3) 2.303T (4) 2.303

Incorrect for an ideal gas in reversible adiabatic expansion is ?

ush Raiafert wemrafes g (Faeh) # wep sesl fg & fm og
22

(1) CvdT = -pdV (2) CvdT =- nRT (dV/V)
(3) Cvlog (T,/T,) = Rlog (V,/V,) (4) Cvlog(T,/T,) =R log (V,/V)

In reversible process of gas, work done is :
(1) Maximum in expansion & minimum in contraction
, :
(2) Minimum in expansion & maximum in contraction .
(3) Maximum in both, expansion as well as in contraction

(4) Minimum in both, expansion as well as in contraction

a $ Rafafee o § ge-39 39 g B
(1) Bene § q@aq ofes o fages # q=d #1
(2) Bl # @y wH N foged § g=d el
(3) hemsl # iR e Mt # wad orfuds
(4) B # iR fages At & qed &y

26
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63.

64.
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In a solution of volatile solvent and involatile solute, incorrect relation

is shown by :

(1)

(2)
(3)
(4)

Vapour pressure of solvent over solution is: p= x-p® in which x is
the mole fraction while p° is the vapour pressure of pure solvent
Vapour pressure lowering, p® - p'=p° - x p°

p° - p = x, p° where x, is the mole fraction of the solute

p’-p= xp°

o arsiier e (&) ﬁ:BWS% faa‘q a‘va’m & ufa @ ar

AT B 7

(1)

(2)
(3)
(4)

M 9¥ aTST &4, p =x p° ﬁfﬂﬁxﬁﬁmmﬁ?@?&ﬁ%aﬁ‘(
p°IEHI AT I B

arsy I & frrEe, p°-p=p°-xp° =
p°- p=x,p° STEl x, el HRM A TAHGE 8|
p°-p= xp o

Rate constant of a reaction depends on temperature as follows :

SRR T YT B AT 9T g6 e P e ¥

(1)
(3)

nk=InA+E*RT  (2) Ink=InA-E*/RT
k = AeB/RT (4) logk =log A+ E*/2.303RT

(o

Which is incorrect in its use as indicator in titration ?

(1)
(2)
(3)
(4)

Methyl orange in strong. amd w1th strong base
Phenolphthalein in weak acid with strong base
Methyl orange in warm (ac1d1ﬁed) oxalic acid with KMnO,

Warm acidified H,C,0, with KMnO, is an example of autocatalytic
reaction - - ‘
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65.

66.

IAH 9 WA 9 EfEhey &1 g9 cEdeE & o Taa @7

(1)

(2)

(3)

(4)

TIRT 3T &l TINT & & @7y Aqga-S{RsT &7 YT Slar 2
dieh ST & WINT & & 9re [ATemdei gfedhet &1 uam
BT &

A (SSTE) H,C,0, 3 KMnO, & A @gee # fh-tewaciy
gfehex @1 gaT S B

TRH (QSTE) H,C,0, % KMnO, & 1T T3¢9 U STTerhalfafes
STfufEsar 1 IaEYer B

Correct pH of aqueous electrolytic solution is shown by :

3H q HE A1 g 7 SAFgse B 9d B pH @ e w9 ¥ v

(1)
(3)

10 M NaCl has 7/ &1 7 (2) 10° M KCl has 7/ & 7

10° M NaCl has 7/ &1 7 (4) All the above/ U & @

Incorrect theory for covalent bonding in H, is :

(1)
(3)

Valence bond (V.B) (2) Molecular orbital (M.O)

V.B & M.O (4) Planck's quantisation

H, 379 & Hlde= i< & fa &\ a1 o1ae ®

(1)
(3)

Jefa €8s (V.B) (2) wieleRg@R. efded (M.O)
V.B 3T M.O (4) W6 hT FITCIHIOT
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67. Assertion, A : Aqueous solution of ferric chloride is acidic.

68.

Reasoning, R : Ferric chloride is a salt of strong acid and weak base

(1)
(2)
(3)
(4)

A and R both are correct and R is the correct explanation of A.
A and R both are correct but R is not the correct explanation of A.
A is true but R is false.

A is incorrect while R is true.

Assertion, (SIX) A : B&® FIIES & 9+ # =@ ofafes dar ®

Reasoning, (EBI'(UT) R : B FRIRISS TH dih e 3R &A1 ufge
FH THE ©

(1)
(2)
(3)
(4)

AR RS &1p & 3R A D T R 31 o
AT RIHT 8156 B 3T A fog R &1ep speor w18t B

ATE B fF] R3S B
AT & Safd REE B

Assertion, A : [Ni Cl | is a tetrahedral complex

Reasoning, R : Hybridization in [Ni (CO),] is dsp?

(1)
(2)
(3)
(4)

A and R both are correct and R is the correct explanation of A.
A and R both are correct but R is not the correct explanation of A.
A is true but R is false.

A and R both are false.
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69.

Assertion, (STIY) A : [Ni CL]? TF TRSIA BT B |

Reasoning, (W“T) : [Ni (CO),} E: Hh{oT dsp? B |
(1) AN RAFT &1 ¥ ik A® RTT R & HroT ¥
(2) AR RSN &tF B X A D R R A wor F&1 & |

(3) A®T B g RYS B
(4) A SR RN T B

Assertion, A : KMnO , initially gives brown colour before it fades away
in its titration with warm acidified oxalic acid.

Reasoning, R : KMnO, is converted to K,MnO, which acts as an
autocatalyst. '

(I) AandR both are correct and R is the correct explanation of A.
(2) A and R both are correct but R is not the correct explanation of A.
(3) Aistrue but Ris false.

(4) A is incorrect w'hi‘lie R is true.

Assertion, (G'{TT) A: T cidEsE o ofis 3 KMnO, 9
eERyd H grew F graq 7  9ar @ o & aw # wmag 8 oiar 2

Reasoning, (%17 R : WIS & 3 KMnO, 3@ X K,MnO, Il
g on fp o ErEReiRRE & | - |

(1) AR R & & ok A% RIT R & BHRoT ¥

(2) AR REM! &1 B R A% R R & s w&l ¥

(3) A®= B g RS B |

(4) AT ¥ wrafs REE ¥
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70. Which is incorrect for an endothermic reaction : 2A+B > C+ D ?

71.

(1) Rate of forward reaction = Rate of backward reaction at
equilibrium o

(2) Increase in temperéture facilitates forward reaction

(3) Decrease in température fac‘ilitates t'orWaI‘d reaction

(4) High pressure will facilitate the forward reaction

TH | Up SuenY s1ffRr c 2A+B o C+ D& T 19 W @
g7 - |

(1) BRag Afufrar @ iy = Jeae srfafmra & oy

(2) YA "M 9T HiRaS siHfmar # i e ®

(3) YA geM U¥ ®Ras Irfyfhar # aoft ol &

(4) TG Fo™ 9¥ B offufrar & ash o @

Which is not true for water ?

(1) It exists in three phases

(2) All the three phases coexist at the triple point
(3) Itis invariant at the triple pointr

(4) Degree of freedom is onc at the triple point
R : |

s § W & Rrg A ar e ¥ 7

(1) I8 &9 o1 & &ar 2

2) fefUe @~ gx dF o9 U 91y B g
(3) fefaer @z wx zaRu=< 2 |

(4) RRE ame w Bl ofe dien o B
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72. Which is incorrect for an ideal gas ?

73.

(1)
(2)
(3)
(4)

AA = AG in isothermal process
AU = AH =0 in isothermal process
AU = AH =0 in adiabatic process

PV = constant in adiabatic process

e # Q H ar o 9 B ufy Twa g 7

(1)
(2)
(3)

TR 9569 H AA = AG BT @
AT 9567 § AU=AH=0 BT 8
geTaTafed WhH H AU=AH=0 B &

(4) USTHEfesd WHH H pyr UH GHIN BT @

What is incorrect for entropy ?

(1)
(2)
(3)
(4)

It is zero for a pure perfect crystalline solid at absolute zero
It is the outcome of second law of thermodynamics
It is zero at absolute zero

It describes randomness

odt & Uiy @ e § 7

(1)
(2)
(3)
(4)

g8 & U1 WEAR o & g 37l aellas 9 g eIl B
qE qHTSIEANIET & dhs .o /FaH &1 & 8

g8 g ferll afas ox g 8 @

T8 faae-faay A=saag aan @
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74. Assertion, A : Bohr model requires fixed orbits for electronic motion

75.

of H-atom.

Reasoning, R : Centrifugal force = Centripetal force.

(1) A and R both are correct and R is the correct explanation of A.
(2) A and R both are correct but R is not the correct explanation of A.
(3) Aistrue butR is false.

(4) A and R both are false.

Assertion, (@T) A: 9T & IR ZQAFTA BT AT & gfead
& =i ol gee feRTs e # 2T B

Reasoning, (EBI'{UT) R : ﬁ@‘ﬂ_’ﬂ'ﬂ B = ﬁ@‘ﬁm s ars]

(1) AaﬁTRaﬁéﬁzﬁ%eﬁ'{A%%mRaﬁzﬁzﬁm%l

2) A aﬁrRﬁm%aﬂTA%mmeaﬁ%l

(3) AGd ® fg RS B
(4) A3 R EH] Ted B

Assertion, A : Photochemical reaction is A + hv - P. Quantum yield
= {d [A]/dt} /1,

Reasoning, R : Quantum yield is [Rate of formation]/Intensity of

absorbed radiation.

(1) A and R both are correct and R is the correct explanation of A.
(2) A and R both are correct but R is not the correct explanation of A.
(3) A is false but R is true.

(4) A and R both are false.
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76.

Assertion, (ST) A : WIS Atfshar, A+hv - PF ufdy gy
§T = [Al/dY/ 1

Reasoning, (HR°T) R : Fareq sos - X i wRASH|) wre) g2
WU # gofd

(1) ABﬁTRﬁm%GﬂTA%ﬁT‘IR?ﬂEﬁWW%I

2) A Gﬁ"{Rfﬁﬁ?ﬁfﬁ%GﬁTA%mRmWﬁ%I

B) A B forg Raw ¥

(4) ASNT RSN o g B

Assertion, A : Time and cnergy can not be measured simultaneously.

Reasoning, R : Heisenberg's uncertainty relation is AX.Ap 2 h/dn

(1) A and R both are correct and R is the correct explanation of A,
(2) A and R both arc correct but R is not the correct explanation of A.
(3) Ais true but R is false.

(4) A and R both are false.

Assertion, (1Y) A : &g X ot wsp arer 7€t " o7 Hed e |

Reasoning, (HRN) R : Bgi=erT & Siiifeeraar &1 fgmr: AX.Ap > hdx
(1) A@ﬁ"{R?ﬁ?ﬁﬁ‘eﬁ%eﬁTA%ﬁQRa‘T?ﬁW%l
2) A aﬁ?Rﬁ?ﬁ@?ﬁ%Gﬁ?A%ﬁQRﬁ?ﬁmaﬁ%I

B) A®T B ] Ryge B
(4) ASTR REN! g 3
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13U/115/29(i}

Correct match is shown by :

Compound Used as
(1) Chloroform Antiseptic for wounds
(2) Bromoform Anesthesia
(3) lodoform Anti-allergic

(4) None of the above

sﬁﬁﬁaﬁﬂmaﬁﬁa@rﬂ%?

CHRES g
(1) FAAwE dhaftes srEm &
(2) s LErsIRirse)
(3) STESIHH A uafsien
(4) ¥ Hg e

Which of the following is correct ?
(1) Fructose has - CHO group

(2) Glucose has - CHO group

(3) Glucose has - CO group

(4) Fructose is a dissaccharide

e H q P W HE BT
(1) shaaT & -CHOZU ®
(2) wgﬁﬁrﬁ-CHogq%
(3) TRt # -COYU B
(4) SRS § - SEADUES B
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79. Assertion, A : Benzene ring has delocalized electrons

80.

Reasoning, R : Benzene has alternate single and double bonds

(1) A and R both are correct and R is seemingly the correct

explanation of A.
(2) A and R both are correct but R is not the correct explanation of A.
(3) Ais true but R is false.

(4) A and R both are incorrect.

Assertion, (W) A : 3= # Sidiames omTT 2

Reasoning, (HR) R : 999 & umiay smdan oix e FvE B
(1) AaﬁTRﬁ?ﬁaﬁEﬁ%‘aﬁTA%ﬁmRaﬁzﬁm%n
2) A aﬁ?Ra‘m‘faﬁE}s%eﬁtA%%rQRaﬁzﬁm%ﬁ%:

B) AWI B <] Rage B
(4) AR REET T g T

Phenol is ?
(1) Acidic (2) Basic

(3) Neutral (4) Amphoteric
At o B ?

(1) uHifeen (2) aAfgs

(3) Iard= (4) TR
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81. Which of the following is named reaction ?
(1) Addition (2) Substitution

(3) Saponification (4) Aldol condensation

= o e o Jren oyfutear & °

(1) TEe= (2) w=dIgeE
(3) ANTHIB (4) TSI HeHa

82. Which of the following is incorrect match for functional group ?

Compounds Functional groups
O
(1) I Ketonic
H—-C—-OH
(2) R-O-R Ether linkage
(3) R-CO-R Ketonic
(4) R- COOH Carboxylic

g § @ a1 s 9 % i Ted A9 @ ar g 7

qfres BraTcHss dqE
0
(1) Il EIRIE D
H—C—OH
(2) R-O-R OGN
(3) R-CO-R HIIH
(4) R - COOH Fraraiferstiiaen
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3. Which of the following is diamagnetic ?

= H | P9 G saAHfes 7
(1) [Fe (CN)J* (2) [Fe (CN) J*

(3)  [CO (NH,) > (4) [Mn CLJ*

84. The correct IUPAC name of CH = CH is :
(1) Acetylene (2) Ethyne

(3) Ethene (4) Propene

CH = CH @1 g8l IUPAC 9T &7 & ?
(1) vdfet (2) T
(3) T (4) Sd=

85, Assertion, A : Basic character increases from La to Lu

Reasoning, R : Atomic volume increases from La to Lu
(I) A and R both are correct and R is the correct explanation of A.

(2) Aand R both are correct but R is not the correct explanation of A.
(3) As true but R is false.

(4) A and R both are incorrect.
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87.

13U/115/29(i)

Assertion, (SIX) A : af{® 9T La & Ludh dadT g

Reasoning, (B0 R : U2IH® ST@AT La & Lu d% sedl &
(1) A3 REF! &1 & 3R A S foiw RS &RoT B
2) A o Rl &1 B olX A% Riw R HOT A8 B

B) AT B fFg Rgo B
(4) A3 RIN! T B

Which one contains chiral carbon atom ?

g7 ¥ @ Fral sgee FwEq 1@y B 7

[ Br
I |
Cl—C—Br Cl—C—1
(1) | (2) |
Cl H
H Br
I I
Cl-C—H Cl—-C-—"Cl
(3) | (4) |
Cl H

Which of the following is true ?

(1) Glycerol is dihydric (2) Glycerol is trihydric
(3) Glycol is trihydric (4) Glycol is monohydric
= o g 91 98 ¥ 7 |
(1) T SIEBIEsiEh (2) AT TTEEIESER
(3) ISR EHECIEEH (4) ISITZhI B ESIEG
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88. Which one is correct for the I-group elements in going from Li to Cs ?

89.

(1)
(2)
(3)
(4)

Basic character incredases
Basic character decreases
Atomic volume decreases

Electropositive character increases

TH A BN G 9B YU B ad F Li § Csaw B forw qEr 7

(1)
(2)
(3)
(4)

afeh o7 FedT B
¥ o7 Hear ®
LHTIY-SATEA T §

g IIIiSTieq /o=l seror "ear @

NH, and H,SO, are manufactured by thc following processcs,

respectively :

(1)
(2)
(3)
(4)

Ostwald & Chambers processes
Chambers & Haber's processes
Electrolytic & contact processes

Haber's & Chambers processes

NH, 3f¥ H,S0, #Argar 1 Ru gu wedt § fqdear a9 &

(1)
(2)

(3)

(4)

feaes ot T=d wpe @
Jrad oMY BEX UepH 9@

gagiferiess oY S uyHg §
ga% IR Tvad wepw
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90. Correct basicity of the oxy-acids of phosphorus is shown by :

91.

BRHRE & Sifad-ufieg & anfiear & 9fa e a1 98l & ?

H OH O HO O OH
l | P \P/\P/
HO—P->0O H-P-0 HO-P—OH
! | | VAAVARN
H OH OH O @) O
() 1 2 3 1
(2) 2 1 0 0
(3) 1 2 3 2
4) 1 1 1 4

Which of the following is incorrect ?

(1) Xe & Rn are inert gas elements

(2) Na and K are metals

(3) BaSO, & SrSO, are soluble in dilute HCI

(4) Electrolytic process is used for the extraction of Al

S B 1T & 7

(1) Xe 3 Rn3e 9 weidAe B

(2) NadiR Kurg

(3) HCI# BaSO,30T SrSO, gAM &

(4) Al S TFHoHIH § SAeSIiaied SEd AT Bl 8
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92.

93.

94.

95.

Na reacts vigorously with water with liberation of :?

qrt & Na U=is oTifhar & 4@ & @ 19 et 8 7

(1) H, 2) N, (3) O, (4) Co,

2

Which of the following is called carbolic acid ?

g9 H hrEieres s fhd wea § 7

(1) C,HOH  (2) CH,CH,0OH (3) CH.OH (4) C,H,OH

Oxidation of isopropyl alcohol gives ?

IMETENTTO ThIElel STERATReT ¥ Ry a7 & 7

(1) (CH,),CO (2) C,H.- O-CH, (3) C,H, (4) CH,CHO

Which one is the general formula of primary alcoholic group ?

IH @I AT qrafies Geehielfess g @ AT B § 7

(1) —Cll—OH @2 ~¢HOH () -cn,on (4) - COOH
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97.

98.

99.

13U/115/29(i)

lodoform is formed on heating iodine and NaOH with

TS X NaOH fras arey fHeehy STEEisH g+ & 7

(1) C,HOH  (2) CH,OH (3) HCOOH (4) C,H,

Which of the following reacts with KCN to form benzoin ?

=i @ G KCN & FRar a¥ =g &ar ® 7

(1) C,HCHO (2) C,H,COOH (3) CH,Cl (4) C,H,CH,

Chloral is/ g8 9 @1 FRA & 7

(1) CCLCHO  (2) CH,CCL,  (3) CCLCO CH, (4) CCI,CH,OH

Reaction of HCOOH with conc. H,SO, gives

HCOOH & H,S0, & @r¥ fpar ¥ =1 &1 & 7

(1) CO, (2) CO+H,0 (3) H,C,0,

4

(4) CH,COOH

2
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100. Which of the following is least soluble in water ?

uHl # Fq9d A gL B ar g 7

(1) C,H,NH,  (2) (C,HJ),NH (3) (C,H)N (4) C,H.OH
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SECTION - III
gvs - III

BIOLOGY
(Marks : 150)

101. Biological control is usually applied in controlling the plant diseases

which are :
(1) soil borne | (2) water borne
(3) insect borne (4) air borne

urEed I @ MEREE H § ume o Sfees e suaer § e
ST € a8 ®

(1) 9a1 SItag (2) ST S

(3) @le S (4) arg St

102.Resin is obtained from plants belonging to :
(1) Tiliaceae (2) Roseaceac

(3) Cucurbitaceae (4) Pinaceae

U FHEi-ad qref @ 9w sier S
(1) e (2) ol
(3) @Eg(éléé ! (4) G

103.In coconut fruit the milky water is
(1) cellular endosperm (2) embryo

(3) free nucellar endosperm (4) non-endospermic tissue
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MRAA & Bl H e AT 8
(1) ehILTEHIT YoTaIy (2) gor
(3) W HEDIT YOrdy (4) STYINNY FHdh

104.The juvenile stage of the moss plant is known as :
(1) spore (2) prothallus

(3) gametophyte (4) protonema

qH PY P ITIIIEE TR FHEAT 8

(1) ey (2) ¥

(3) YHeHIGHY (4) YVEEAT
105.A gymnosperm having Vessel is

(1) Pinus (2) Cycas

(3) Ephedra (4) Gnetum

(1) wiE7d (2) &EHH

(3) §HT (4) T
106.False indusium is found in :

(1) Marselia (2) Pteris

(3) Riccia (4) Funaria

3T 3TEsEd 9T Sl 8
(1) wrdferar o 2) 2fa #
(3) Reritar A (4) TRt o
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107.Horsetail is the common name of :
(1) Funaria (2)
(3) Selaginella (4)

“ErASH’’ HHEMY H B

(1) wgARE (2)

ISISIERS] (4)
108.Single stranded DNA is found in :

(1) Dahlia mosaic virus (2)

(3) Rous sarcoma virus (4)

T TSl el DNA 97 S Em 8
(1) seferEr A5 oy (2)
(3) TS HrehiAT fawr (4)

13U/115/29(i)

Ophioglossum
Equisetum

SNHIEATAT
LIt

Tobacco mosaic virus

¢ x174

TR Aot fesmog

¢ x174

109.Black-wart disease of potato is caused by :

(1) Synchytrium endobioticum  (2)
(3) Helminthosporium oryzae (4)

I B RNH-are I FW FND B

(1) FFpifleaq s=siamaiiess (2)
(3) Efe=enaiRaa arss (4)

Ustilago nude
Albugo candida

SR T
gegll Bi-ssT

110. Clear areas in bacterial colony caused by phage particles are known

as:
(1) Plasmids (2)
(3) bacteriophages (4)

47
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GFARET (STare)) & T # e 89 Al o $ ary aar & Ha

ST FAT 8

(1) <fHgd (2) e

(3) ST Hh (4) HBST
111. Heterocyst is found in :

(1) Volvox (2) Spirogyra

(3) Oedogonium (4) Nostoc

FEAfIeE T ST ®
(1) greareRT (2)  EIETIIIRT
(3) HIErFIfE (4) TRETE

112. Which of the following structure is associated with asexual
reproduction in fungi ?

(1) zygospore (2) ascospore

(3) basidiospore (4) conidia

st & | @9 @ @33 %% B oI gy 4 grafad g 7
(1) SR (2) TERIIIT

(3) e (4) =pifAtsar

113.An ATPis :

(1) an amino acid

(2) a helical structure

(3) a high - energy molecule which breaks down to ADP + Pi
(4) an enzyme
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To do dio B :

(1) wep ST o

(2) Tk HUsiem FLET

(3) Weh I oIl BT 9] SN Qodlolo AT STHE T BB H
ferafeq g @

(4) T T

114.Fuelgen staining is specific for :

(1) RNA (2) DNA

(3) Protein (4) Lipid

e SRR AR 8 ¥

(1) o Tdo UWo (2) Zlo THo To

(3) dEE (4) fafus

115. The number of peristome teeth in capsule of Funaria is :

AT & @vge # afE &l @ d@er ®

(1) 12 (2) 24 (3) 32 (4) 64

116. The casparian strip is found in :
(1) between xylem and phloem
(2) between all epidermal cells
(3) within the secondary wall of parenehyma cells
(4) on four sides of endodermal cells

AT gedt urRit SR @ -

(1) Stree™ 3T weieA & g |

(2) @t arey @Er HifdEel & d" '

(3) HgHaH HIERreAl & fadras R & o=y
(4) STILEET IR & AR S
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117. Two similar holotypes are called :

(1) Isotypes (2) Mesotypes
(3) Syntypes (4) Meotypes
A G BEEY He S 8

(1) STEHETEH (2) e
(3) RATeE= (4) Hielers

118. Resolving power of an electron microscope is :

g gerasl @t oTade e B
(1) 1A° (2) 10 A°
(3) 100 A° (4) 1000 A°

119. Bacteriophage is :

(1) fungus (2) mycoplasma
(3) wvirus (4) algae
StraropHrst 8
(1) @& (2) HIZHIATSH
(3) fersmog (4) QT
120.The corolla of pea is :
(1) Rotate (2) Ligulate
(3) Bilabiate (4) Papillionaceous

HeT & T YA T
(1) <hIhI (2) frEamEpr
(3) fE@reeTenY (4) YfafeE=fa
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121. VAM represents :

(1) Symbiotic fungus (2) Saprophytic fungus

(3) Saprophytic bacterium (4) Symbiotic bacterium

#o To uHo UM Hear 2 :

(1) Hesidl Had (2) JAGSEl Eereh

(3) IS ST (4) wEstdl STy
122.DNA is associated with basic protein like :

(1) Histone (2) Non-histone

(3) Albumin (4) Globulin

dlo U0 Uo &g UidH & a1y gl & o -

(1) BE (2) ¥AM-few

(3) YA (4) TG
123.Diatom shell is made of :

(1) Lime (2) Magnesium carbonate

(3) Calsium carbonate (4) Silica

SgeH g 991 ©
(1) =0 (2) IR FHEH

(3) Dfeaan wEHS (4) faferesr

124.In Prokaryotes the ribosome is :
daRded # vsaEH g @ ¢
(1) 308 (2) 508
(3) 708 (4) 808
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125. Multicellular jacketed female sex organs of bryophyte is known as :

(1) Archaegonium (2) Corpogonium
(3) Ascogonium (4) Oogonium
SITATHIEET ol agehierehid AT AT STHAET @ Fed S
(1) SnfpmT (2)  eBMAFIEH
(3) TERNTH (4) S
126. Which of the following is not a fish ?
(1) Dog fish (2) Sea horse
(3) Silver fish (4) Cat fish
frrerfoiaa & @9 wee &t & °
(1) =r1 fper (2) (&1 =rd) @gar =St
(3) FoeaT foer (4) e fthar

127.The ratio between the number of total WBC and RBC in human blood

1S

HHE R W 9dd o HIOTRIT Ud el ey hIoTeRral} &l e §

SO B
(1) 1:10 (2) 1:100
(3) 1:1000 (4) 1:10000

128.The first vertebra of the vertebral column of the rabbit is known as -
(1) Atlas (2) Axis
(3) Caudal (4) Sacral
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TN H HI6E ST hl T h9%aeh Sl Sl &
(1) U= (2) uferEd

(3) @3S (4) Qb

129.Amion acids in a protein molecule are held together by :

(1) Peptide bond (2) Glycosidic bond

(3) Ester bond (4) Phosphodiester bond
O ST H Il 3T 2 T@d ©

(1) U< =1 FT (2) ITZHIATEE F7T BT
(3) TEX T & (4) HEHISHIET T R

130.In five kingdom system of classification bacteria and cyanobacteria
have been kept in :

(1) Protista (2) Monera

(3) Fungi (4) Animalia

fiepTor & die ST gomen # AfFeiar ok armRfrefEr @ W™
g

(1) mifewer o (2) AF H

(3) Trorrg H (4) o §

131.Which of the following is not a hormone of hypohysis (pituitary gland)?

Frefoiea 4 w9 gy bfer 1 smie 7@ & ?
(1) STH (2) FSH
(3) PTH (4) TSH
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132.Hormone that regulates basal metabolic rate is :
(1) Relaxin (2) Thyroxin

(3) Cytocin (4) Prolactin

T U=t a7 & MEfEa e g« s 8
(1) Rt (2) oA
(3) wFEIIT (4) ORIfFeH

133.Flippers of whale and patagium of bat are examples of
(1) Analogous organs (2) Homologous organs

(3) Vestigial organs (4) Rudimentary organs

T A AT S TS T ity IETeVeT §
(1) TFgfa i & (2) dEod SN &
(3) STAJNIFT B (4) STeuafda o &

134.The causative agent of malaria is

(1) Wuchereria bancrofti (2) Plasmodium vivax
(3) Leishmania donovoni (4) Trypanosoma gambiens
qAREAT @ T T

(1) FERRET Fa17eT 2) Wmﬁ@wwﬁw
(3) Frermfrar g a (4) AT Ay
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135. Which of the following pollutant is net an acid forming gas ?

(1) Nitrous oxide (2) Carbon monoxide
(3) Sulphur dioxide (4) Methane
Frfafad sgwent & @ @9 o T ovT =91 arch =& T 7
(1) <Eeq SifFaEs (2) HET AN ATFEES
(3) UTHY SEIAHTFATZS 4) ™=

136.Who proposed the fluid mosaic model of the cell membrane ?
(1) Danielli and Dowson (2) Overton
(3) Gorter and Grendell (4) Singer and Nicolson

M freeh A o A ufgfy BReY ofraiRe e ?
(1) Bfelt wg sewa & (2) ofiaxed A

(3) MEX wg A=« A 4) FER g e
137.Which of the following is the zoological name of Apple Snail ?
(1) Chiton ‘ (2) Pila globusa
(3) Octopus (4) Unio
Frafefaa & & qo |far &1 o= dsnfrs am @ a1 ¥ 2
(1) &rgeT (2) GIZar TEET
() rERITH (4) g
138.Ink glands are found in :
(1) Sponge (2) Star fish_
(3) Sepia : (4) Jelly fish
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At ufyr qram ST ® o

(1) w1 H (2) T Asel H
(3) faftar (4) St A8l H

139.Sphenodon is a :
(1) Living fossil
(2) Mammal
(3) Connecting link between annclids and arthropoda

(4) Connecting link between reptiles and birds
fepte™ B -

(1) T&H Sifaa SiEneH

(2) Wk wH

(3) TSt ud ameaist & &= @l FASl Hel
(4) afgal qen oferdt @@= @ dA wEt

140.How many molecules of O, can bind to a moleculc of hemoglobin ?

(1) Two (2) Four

(3) Eight (4) One

SR & U O] § STERdS & fhae o19) dfee g1 § ¢
(1) = (2) @

(3) SIo (4) T

141. Which of the following vitamins is essential for the healing of wound ?
(1) Vitamin C (2) Vitamin K
(3) Vitamin E : (4) Vitamin A
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g & 99 H Frefafag § @ @ e sasas 7
(1) et i (2) faerfs &
(3) fa=ifa= € (4) foefia o

142.Incomplete dominance gives the ratio :
(1) 9:6:1 (2) 1:2:1
(3) 12:3:1 4) 9:3:4
sl gwifaa e 3 B
(1) 9:6:13 (2) 1:2:1

(3) 12:3:1% (4) 9:3:4

143.In the genetic code, the code word consists of
(1) Single letter (2) Two letters

(3) Three letter (4) Four letters

ST HT H, FHe o= erar ¥
(1) T HT ol (2) & =T

(3) &M ST & (4) TR ST F

144. Which of the following cells of stomach secrete hydrochloric acid ?
(1) Peptic cells (2) Oxyntic cells

(3) Argentaffin cells (4) Goblet cells
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AT & Frfaiag § @ A9 O RRERT sEgEig oA 6l
o Iy & ?

(1) Qfteep s (2) onfamifes Hifamemd
(3) ITSTEIftheT s (4) =TT HREe

145.An analysis of a DNA (ds) sample yielded 18% Cytosine. What would

be the percentage of other bases in this sample ?

g A ¢ (Juw) B oh FgA B @ F 18% GrESrd 9 a4 |
9 dge 7 ot Al A T ufewre AW AR °

(1) T-32%, A-32%, G-18% (2) T-18%, A-32%, G-32%
(3) T-32%, A-18%, G-18% (4) T-40%, A-32%, G-20%

146.Tendons and ligaments are :

(1) Epithelial tissue (2) Muscular tissue
(3) Fibrous connective tissue (4) Nervous tissue
es ofix Rrmited € :

(1) uwhfafeas SHaw (2) wiEash &Haw
(3) TS FIAW™ FHdh (4) dfrERr Saw

147.Which combination is mismatched ?
(1) Vitamin D - Rickets (2) Thiamine - Beriberi

(3) Vitamin K - Sterility (4) Niacin - Pellagra
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HF | g FAA 8 7
(1) frefis Si-Repeq 2) umEfre - FHEA

(3)

fafrm & - siEas 4) Frafas - 9emn

148.Kiwi is found in :

(1)

(3)

Newzealand (2) North America

Burma and Sumatra (4) South Africa

fopelt qrar ST B

(1)
(3)

oiicts (2) I AR |
At X A | (4) aferor SThteRr H

149.A dihybrid cross is :

(1)

a cross between F, offspring of two individuals that differ in two
traits ‘

(2) a cross between F, offspring of two individuals that differ in two
traits

(3) a cross between two individuals of F, and F,

(4) a cross between F, offspring of two individuals that differ in one
traits

fagesel A 8 :

(1) F g1 & & groft s & @l & B @ & e @ 3w

(2) F,dx & & yoft s & @een § Fr=1 @ & =9 @ A7

(3) F,olX F,& miferal & e &1 "

(4) F a9 & & arft S o qwor ¥ =1 ® & 9 @ A9
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150. Water vascular system is the characteristic of :
(1) Sponges (2) Sea anemone
(3) Sea urchins (4) Hydra

W Gaed o 89 § ¢
(1) TS 2) @ i &
(3) € arfe @ (4) BIZST &I
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ROUGH WORK
Th &t
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ROUGH WORK
w wd
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ROUGH WORK
h &
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